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General Instructions:
1) Students are advised to choose one correct answer to every question.

LGSzl L Liv 1S o S Ar
2) Read each question carefully before answering.
Aoy pSibe i S P,
3) Encircle the correct option of MCQ with a Black /Blue ink.
_u:'bﬁu’u:.gﬁy&f / d(x,.,,lzéf ZJirdén ¥4
4) More than one encircled answer will be considered incorrect.
KL 1P e By Kl S
5) Encircle the correct answer-as shown in the example:

.L.ler; uﬁdl&"ﬁflf.«wfb‘iu’l»fé.,,mg

-l
Example: Lion belongs to which group of vertebrates?
?+L§a}fif£u&ﬁ/}y(/fzdfﬁ
(@) Birds <44 (b) Amphibians &%
(c) Reptiles. # b Mammals 4
| Part-A (Multiple Choice Questions) | Time Allowed: 1 hour

ALy g LS I ot sl QB0 232U o U il

Instructions: -Thirty two (32) Multiple Choice Questions (MCQs) are given in
this part. Attempt all questions. Each question carries 1.5 marks.

Q.No.1. The system used to remove wastes from the body is:

:‘Luc‘aoﬁ'/ :«U«"c,’) 206
(a) digestive system ¢l (b) nervous system (” LY
(c) excretory system 116 (d) reproductive system LY
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Q.No0.2. The example of a voluntary action is:

e B EI
(@) blinking of eyes t;Q».’Ku,/T (b) watching television el
(c) blood circulation  s6u# (d) pumping of heart Vs>
Q.No0.3. The largest part of brain is: i s
(a) cerebrum (s (b) cerebellum (%d;
(c) thalamus JE (d) hypothalamus " 1k5 4

Q.No.4. The differences in characteristics among members of a family are known as:
e bl e BUSI Ut e or®® S M b L

(@) heredity &1y (b) deviations ey
(c) variations A8 (d) applications I
Q.No.5. The characteristic which is NOT transferred to the next generation is:
Qo PP Jizeers
(@) skin colour LKA (b) fatness 173
(c) eye colour EKUAT (d) height ]
Q.No0.6. Chromosomes are made up of:
ULtz pyys S
(a) RNA and fats ﬂmuwﬂ (b) Proteins and fats T 4
(c) DNA and RNA  i¢/i T sletcfIi$8 (d) DNA and proteins T gl

Q.No.7. Industrial use of organisms for human welfare is called:
e bl U3 K unt st L LontsL B 3L
(a) biology =Ll (b) biotechnology Relord
(c) hybridization =f ey (d) variation yd
Q.No0.8. Insulin is being produced these days by using the technique of:
i onee Qoo I LS )i BF 2 ST

(a) genetic engineering .f/:*ﬂ,Cgf (b) tissue culture ff;ﬂ
(c) fermentation ~“~V~/' (d) selective breeding ~ —F4 st
Q.N0.9. Dengue fever spreads by the bite of:
o (e o2 KL s s
(a) mosquito A (b) house fly sl
(c) wasp Vi (d) honey bee lisr
Q.No0.10. The substance which causes ozone depletion is:
i mee EAKE L L ainl 37
(a) nitrogen Sl (b) chlorofluorocarbons Fsobas
(c) hydrogen o (d) sulfuric acid Jdt S
Q.No0.11. The main cause of environmental degradation is: :‘L,?,UZJQlfJQIL
(@) man wur (b) plants <y (c) birds sz (d)rivers L
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Q.No0.12. Elements or compounds undergoing a chemical reaction are called:
:wLmOMgfmu}dlLuL/ JodLd
(@) reactants =ut>  (b) products =us-  (c) catalysts o (d) by-productsufsuvég

Q.N0.13. A product formed during this reaction is: :‘gw,/,du&u:u"fud/m
Carbon + Oxygen —?
(a) carbon disulphide Gl dises (b) carbon dioxide /T Sk
(c) carbonate ek (d) bicarbonate A
Q.No0.14. An example of synthesis reaction is: :‘deﬁJ._a,JrJ’
() CaCO3 — CaO+CO; (b) 2KCIO3 — 2KCI + 302
(c) Fe+S — FeS (d) 2NaCl — 2Na +Cl»

Q.N0.15. When zinc reacts with sulphuric acid, the gas produced will be:
e nu’-‘r dl;é,yrl,g,?‘q_t'/ S bt S iz

(a) oxygen ffi’ (b) hydrogen o
(c) nitrogen S FL (d) carbon dioxide AT Bk
Q.No0.16.Bases turn turmeric paper: PRI ALY NI J- I A I
(@) blue (b) pink ¢ (c) yellow L (d) brown 1.##
Q.No0.17.The unit of pressure is: e 368 2y
() Newton /¥  (b)Pascal <y * (c)Joule Jz  (d) Ampere %
Q.No0.18. Liquid pressure increases with the increase in: :‘Lp,c+b@az;Luz£gﬁf§:ufét
(@) height Ju  (b)area 3, (c)depth S (d) width  Jig
Q.N0.19. As we go up, the atmospheric pressure: A K oo ol i
(a) increases < l»x (b) first increases then decreases ‘me A londs
(c) decreases <t (d) first decreases then increases et it &
Q.N0.20. 1Km=
(@ 0.01m (b) 0.Im (c) 100m (d) 1000m
Q.No0.21. Metre rule is used to measure: temee bt el UK
(@) mass Ut (D)weight o () length  J  (d)time =y
Q.No0.22. The thing which provides energy in our bodly is: e e 0 Qi P g 2
(a) petrol J1 4 (b) diesel Jzi (c) coal £ (d) food S8
Q.N0.23.0n heating, the vibration of particles of solid: SOV A DI,
(a) stops < b (b) increases ey
(c) decreases Lat’n{ (d) is not disturbed <7 U
Q.No0.24. Mercury rises in a thermometer because of : PN T ITVSIIIN Y Y
(a) evaporation ya (b) expansion S
(c) contraction 5.4 (d) condensation F
Q.No0.25. Concave lens is: e bl
(@) thick at the middle br e s (b) thin at the edges Beusr
(c) thin at the middle Be gpn (d) thick at middle and edges t»< s~ sl s
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Q.N0.26. The image formed in the following diagram is:

(e et IBILnE LS Litws
. T
=/
T / c\\~
(a) inverted &1 (b) large $%  (c)real & (dvirtual Sz
Q.N0.27.The image in the given diagram will be formed: :b”:._élu.‘:rl/yjéfd;
Lens
Object ~ \
- - - - w
2F o F 2F
(@atF 4F (b) at 2F 42F
(c) between F and 2F oi.s Z2F»IF (d) beyond 2F &< 2F

Q.No0.28. Dry cell converts chemical energy into a form of energy, which is:
:‘aur‘at'fd;,‘f Ufg}ﬁ‘ﬁ(f&/lf(f]lﬁ&&/ﬁ
(a) magnetic &£+ (b) electrical K £ (c) potential (d) kinetic —&d¢

Q.N0.29. Electricity produced by using kinetic energy of flowing water is called:
:wgf&d’;Lnlﬁc.&)l.Jé‘é(d/flgé(}};

(a) thermal power /,gu“ S (b) nuclear power sl Ay
s (d) hydal power k¥

(c) wind power
Q.N0.30. The input device used with a desktop computer is:
e T eqeih s i AL S pd 23

S (b) keyboard 5ad

(a) monitor
(d) speaker o1

(c) printer L

Q.N0.31.The instrument used to see distant objects is:
:q_wq_b'MJlﬁ’l“L LE:M( rlr?léwﬁ.ﬂ

(a) telescope a4 (b) spectroscope oy
(c) microscope .;Pu?’ { (d) kaleidoscope .;P;y(

Q.N0.32. The tool which is NOT used in space exploration is:
:q_mb'nu.‘.‘) Je 1t F kS g 2 T

(a) rocket < (b) launching pad R cyl
:,P,)? { (d) telecommunication system (wj&uv

(c) microscope
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